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a. ANEAELLEMNEAHEARNT

1. FRAESAE T E BB 5 FEN y = 0.1296x -0.12; x JIFRMEMIKE (mg/mL), y AWIGE.
2. HRME AR EETHE

BN E s B mg ALEVE RS B AL KR 1ng BERE & SCh— MBS 77 5407 .
FEFEBERE 77 (ug/min/mg prot)=[1000x(AA+0.12)=0.1296xV1]+(V1xCpr)=T=771x(AA +0.12)=Cpr.
3. HEPEAGEE T

BALE X B g VRSB KR Lpg REWE € SR — MBS JJ B AT

FERERE TS 71 (ng/min/g B B)=[1000x(AA+0.12)+0.1296xV 1 ]H(WxV1+V2)=T=771x(AA +0.12) +W.
1000: 1mg/mL=1000pg/mL; V1: HIIARSARRHPEEARET, 0.03mL: V2: IIARRPEAER, ImL; T:
SB[, 10min;  Cpr: FEABERKRE, mg/mL; W: HFEALEE, g.

b. FH 96 LM E KTHE AR T

1. FRAESE T E BB A5 FEN y = 0.0648x -0.12; x JIFRMEMIKE (mg/mL), y AWIGE.

2. RIRE AR

BT RE X B mg VR AR B K R Tpg HEREE SON— ARG 11 8407

FEFEBEE 77 (ug/min/mg prot)=[1000x(AA+0.12)+0.0648xV 1]+(V1xCpr)=T=1542x(AA +0.12)+Cpr.

3. FUREAEEE

FATIE S B g VR MBI KR Tng BEREE SO — MBS 77 B pT .

FEFEBEE 77 (ug/min/g 8 2)=[1000x(AA+0.12)+0.0648x V1]+(WxV1+V2)+T=1543x(AA +0.12) +W

1000: 1mg/mL=1000pg/mL; V1: IIARSARRHPFEEAETR, 0.03mL: V2: IIAFREGAER, ImL; T:
SB[, 10min;  Cpr: FEABEBRIKRE, mg/mL; W: FEAEE, ¢
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